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In this paper, it’s proposed to capture NR V2X PC2 coexistence results based on the contributions [1].
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In this clause, the simulation results in scenario A are provided. The simulation results for case1 are listed below based on 31dB ACLR and 27dB ACS.

Figure 5.1.1.3.1-1 simulation results for scenario A case1
And the PRR loss can be found in the below table.

Table 5.1.1.3.1-1 PRR loss for scenario A case1
	PRR loss
	PC2 NR V2X to NR V2X 
[bookmark: OLE_LINK12]At 150m range for 60km/h
	PC2 NR V2X to NR V2X
At 50m range for 15km/h

	1100Byte
	3.9%
	0.3%



Based on NR V2X co-existence simulation results for case1, the following observations are made:
· For both PRR loss at 50m range for 15km/h and at 150m range for 60km/h, NR V2X UE makes acceptable interference to NR V2X UE victim.
· All the PRR loss is less than 5%.

[bookmark: OLE_LINK21]5.1.1.3.2 Scenario B
In this clause, the simulation results in scenario B are provided. The simulation results for case3 and case4 are listed below based on 31dB ACLR and 27dB ACS for V2X UE. 

Figure 5.1.1.3.2-1 SINR and Throughput without power control for case3

Figure 5.1.1.3.2-2 SINR and Throughput with power control for case3

Figure 5.1.1.3.2-3 Coexistence results for case4 without power control


Figure 5.1.1.3.2-4 Coexistence results for case4 with power control
And the throughput loss and PRR loss can be found in the below table.
Table 5.1.1.3.2-1 Throughput loss for PC2 case3
	Throughput loss
	5% tile

	
	without power control
	with power control

	
	26%
	little performance loss



Table 5.1.1.3.2-2 PRR loss for PC2 case4
	[bookmark: OLE_LINK8]PRR loss (1100Byte)
	At 150m range for 60km/h

	
	without power control
	with power control

	
	1.4%
	8.6%



Based on PC2 NR V2X co-existence simulation results for case3 and case4, the following observations are made:
· With power control PRR loss at 150m range for 60km/h exceeds 5%, so the performance loss can be observed for NR V2X UE. But it is observed that there is very little performance loss for NR BS in this scenario.
· Without power control the throughput loss at 5%-tile for 60km/h exceeds 5%, so the performance loss can’t be accepted for NR BS. But it is observed that there is only 1.4% PRR loss for NR V2X UE in this scenario.

<End of TP >
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